MARKING GUIDELINE FUNCTIONS AND INVERSES

MAY/JUNE 2024
QUESTIONS/ VRAAL 5
3.l P(2:4) v x=2
\-"'_p'— 4
(2]
5.2 flx)=log  x
2=log 4 + substitute (4 ; 2)
a =4 voat =4
a=2
(2]
53 ‘._E"" o -F=2r
(1]
5.4 I=log, x
=2 T2 1) v xy=2
ET = 2 units ¥ RT = 2 units
PT = 3 units ¥ P'T = 3 units
Area of ARTP '= —;.RT.TF'
=l><2><3=3uni1:=‘ ¥ answer
2 (4)
9]




NOV 2023

QUESTION 4/VRAAG 4
4.1 y=—4 v y=—14 (1)
4.2 x— intercept: 0=2"—4 Yy=0
4=2"
=2 vx=2 (2)
- B(2:0)
1.3 y=2"-4=-3 vy=-3
AN -3
¥=mx+c
3 ¥ gradient
m="
2
3
ﬁ[ef}=5-’f—i ¥ equation (3)
— ¥ ki1
4.4 k[]}=§{1}—3=—3 (1)
2 2 ) |
F1)=2' —4=-2 1) =-2
. 3 1 o 9
Vertical distance = —5" (-2)= 2 units answer (3)
4.5 glx)= flx)+4
glx)=2; xe[-2:49) v glx)=2" (1)
4.6 1 |
Range of g: IE[E .16
5y ]- . ) -
Domain of g7 :x = [% 16| orfof %E x<16 Y xe [E ' lﬁf @)
A
4.1 g:y=2"
g x=2" vswop xand y
- 1 !
B fx}=lngz X, XE|:E: 16 | ¥ equation
! (2)
[14]




NOV 2023

QUESTION 4/VRAAG 4

4.1.1 decreasing v decreasing (1)
4.1.2 ._rl-.|”
73,
x= rl| v swop xand y
L3
y=log, x ¥ answer (2)
4
OR/OF OR/OF
y=3"
=T v swop rand y
Soy=—lo
S Ba X ¥ answer (2)
4.1.3 x>0 xeR v answer (1)
4.1.4 y==5 v answer (1)
4.2.1 x=1 v oy=1
y=2 vy=2 (2)
4.2.2 4
x—1+2='ﬁ| v let y=10
4=-2x+2
2x=-2
x=-1 ¥ r=-—1

(2)




4.2.3

¥ asymplotes
v x-intercept

q—__\_-_-_-_-_‘_‘-‘-‘-\-
"'\;\ v p-intercept
¥ shape (4)
4.2.4 4 > _2
x—1
4
+220 v x=-l1
x—1
x=-1 or x>1 v x> (2)
4.2.5 ¥=—Xx+c ¥ intersection of axes at (3 ; 2)
I—_q4p v subst (3:2)and m=-1
c=2
y=—x+35 v y=—x+5 (3)
OR/OF OR/OF
V=—X+r
2=-1+r
c=3
y=—x+3
y=—(x-2)+3 Vv —(x—2)+3
y=—x+3 v y=—x+5 (3)
OR/OF OR/OF
y=—(x+pl+q

y=—((x=2)+ (1)) +2
¥=—x+2

v y=—((x-2)+(-1))+2
v y=—x+5 (3)

[18]




NOV 2023

4.2.1 y=—5 v answer (1)
422 x=_—h=ﬂ=
2a  2(1) v x=2
f(Z)=2"-4(2)-5=-19 v y=-19 (2]
D2 -9)
OR/OF OR/OF
Mixi=2x—4
2x—4=0
y=2 v x=2
fl2)=2"-4(2)-5=-9 v y=-19 i2)
D2 -9)
4.2.3 g=-5 v g=-5
—0=a(2)% -5 v substitution of (2 ; —9)
-4 =4a
a=-1 v a=-1
gk =-2"-5 ()
424 ye(—=;-5 OR y<-5; ¥ answer (1)
4.2.5 k<-9 ¥—0
¥ k<=0 i2)
120]
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QUESTION 5/VRAAGS
5.1 gix)=2x+6
y=6 v y=F6 (1)
5.2 y=2x+h
¥x=2y+h ¥ swop xand y
Answer only: Full marks
y= %x_g v equation (2}
2.3 | .
E.&'—3=EJ¢+E v equating
¥—G=d4x+12
3x=-18 vx= -6
x=—h
"l"-. f = — P
A(-6:-6) y==0 ﬁ}
ORSOF OR/OF
2x+h=x v equating
x=—1 vi=—8
y=-6 Vy=—§ (3)
5.4 AB=/(B)* +(12)° v substitution
=180 = /5 = 13,42 ¥ answer 2)




QUESTION/VRAAG 6

6.1.1 y=3"
v=3" v swop x and y
y=log, x v equation
(2)
6.1.2 Mxy=3"1+2
Transformation: 4 units left, 2 units down y 2 (A)
P'(2:8 sl
(2:9) v y=0[A)
(2]
6.2 fix)=2""+yq
g=—16 vg=-16
= ?_II-.'i _
If_} L 16 v substitute (3 ; 16)
2F" =32
2" =2’ v 28 or pt+d=log, 32
- pt+3=5 e
p=2 v p=2
(4]
18]
NOV 2018
QUESTION/VFRAAG 4
41 Yes ¥ answer
For every x-value there 15 only one corresponding ¥ value ¥ [eason
OR/OF
One to one mapping (vertical line test) (2)
42 R(-12;-6) ¥ answer (1)
4.3 f(x)=ax" substitute (—6;—12) , o
“12=a(- ﬁ]z substitution
_1 r
i =— ¥ answer
3 (2)
44 7 [ 1Y .
y=——-|x
Y=13)
flix=- % .f ¥ swapping x and y
y=—3x vy =-3x
V==3y—3x
Only y=—+/—3x and x =0 Y y=—+v—3x
(3)
8]
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QUESTION/VRAAG 5
51 | a =1 2=l
T[ﬂ- |.] W _F=J- |:_E_:|
5.2 H[_:q’]:;]'r v substitution
ﬂ=d_
a=3 a=0 v 4=3 (2)
53 | y=(1] or y=3- vy=(1] 2
3 - 13
5,1 3" < 3'"!..1 - 3|
v < x
l<x<3
= v oy 3 2
DR
Ty
]
) v 1= x
1< x<3 v ke 3
(2)

18]
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QUESTION! VRAAL 6
6.1 g=1 ¥ g=1
(1)
6.2 | subs (0:0) 0=—2_+1 vi= 2 1]
+p 0+ p
2
P v ammp
a=-p
Subs F:
el
V2+i= Jie2+ F+ l NOTE. ¥ substitution
) Answer only 2/ 5
Ji=—®
NZ+2+ J
2+ Eﬁ+ﬁp= a
2+2fz=a-pfz=a+ a2
2(1++42 )= a1+ 2]
|I ."Ir-]ll ldl{ ' 1-'"" g = 2
a=2,; p=-2 v op=-2
(3)
6.3 il
H
|4
e e — - "'f} = 1
— _\___"--\. r=1 i
0 ' V=2
L .I = 2
III ¥ shape
||
|; V(0 0)
v (4)
11o0]




